-FH jﬁiﬂa S50 I\ RIV§HE) HOLD DOWN ACTION

Toggle Clamps

W OS5V T8I\ RIVHEY

Vertical handle toggle clamp

No.HV150/Hv150-2s No.HV250/Hvaso-2s No.HV350 [FE HV350 |

[Hveso [JaN 4580455760538 | [
[Hva50-25 | JAN 4580455760545 |
HANDLE MOVE: 60° HANDLE MOVE : 65° HANDLE MOVE: 60°
ARM MOVE :105° ARM MOVE: 115" ARM MOVE :100°

[HV150  [JAN 4580455760491 | HV250  |JAN 4580455760576 |

[Hv150-25| JAN 4580455760682 |

M4x28 P=0.7 o
2L RILEF A O RIBUE LS
2FILREFIG ) o
ARASUSAIL MER s o |

o = “r33

= o
ol [ o 2513
2 ? Q .‘.lj. { mm
25.5] i i 7 ok e
2590 Stainless t=3.0 " MexsoPet2s —22—

175mm
T75>3I~R—X (Flange base)

{3/BfRA Accessories M8x50d AftEMIL k(Rubber
bolt) 178 / v h(Nut) 2@ / U
7 —7— (Retainer) 118

120mm
30.8mm

4 8 Materials 2ZF—)U (Steal)
AT VR (Stainless Steal)

375 % Mounting method TS YNR—2A(Flange base) 375 % Mounting met T35 YN—2X(Flange base)

{FB R Accessories M4x22F OV EERIL~ {FB &R Accessories M6x 37 LfFERIL M(Rubber
(Nylon film bolt) 14 / & bolt) 178 / Fw h(Nut) 2@
(Washer)2#Z / v b (Nut) 218

No.HV450/Hv450-25 No.HVE50 203 He50 |

[Hvas0  [JAN 4580455760583 | HV550 | JAN 4580455760620 | HVB50 | JAN 4580455760637 |

|HV450-25| JAN 4580455760590 |
HANDLE MOVE: 60° HANDLE MOVE: 58" HANDLE MOVE: 58"
ARM MOVE :100* ARM MOVE: 106* ARM MOVE: 106*

100mm
33.4mm

#8 Materials 2ZF—U (Steal)
AF VR (Stainless Steal)

3.%
I
e
%
»

4
EN
T
©
o
ES

® 4 EY
: 1 L 4 o IRE
oy m:ﬁgig 29 o ) Wl B
m i g ‘ o I~y |©
CHI NI ‘@8 o1 BLE
47| 48 784
M8X68 P=1.25
M10X85 P=1.5 M10X85 P=1.5 |
O
K y | S y E
© £
S
® 9 2 2 27 [ ©
- @ ° o)) Q@
o ,1 ™ g o
T < :
Stainless t=3.0 o1 | 9T |

196mm
267mm
75> I~R—2Z (Flange base) 753 ~—2Z (Flange base)

{3/BER Accessories M10X59T LfFRIL ~ {3/BR Accessories M10X59T LRIV
(Rubber bolt) 17 (£&85) (Rubber bolt) 14 (£&85)
7w bk (Nut) 2(& 7w b (Nut) 2(&

UF—7— (Retainer) 118 &S (Washer) 248

2.25kN (225kef)
345g / 3208 (SUS)
146mm

170mm

8 Materials ZF—)b (Steal)
XTV LR (Stainless Steal)

{1753 Mounting method TSI —ZX(Flange base)

M8x50 Afd 7L b (Rubber
bolt) 145 (2K68) / B
(Washer) 2# 7 b(Nut) 218

29

JF
S5
>
Tz
Bl




